Physics Electric Circuits

(RCUIT MATH

Solve the following problems showing all work.

1. Find It for the following circuit.

: ,
‘ l I
=1 T
I,=2A L=1A Ii=4A
1A
2. Complete the table for this circuit. R, =30
V=12V
Ry=9Q =~
R,=2Q
R3=9
Vi= 12V Viz 3.6V Voz 2.6V Vi= 5.2V
Rr=9 1 Ri=z31() R2=210 R3= & S
IT=/;?>'C) I1=/~3‘£} IZ: /.3/4 I3= /=3‘?

3. Complete the table for this circuit.

"VT=.10V-.-.'.-.'-':-:' A\,
V=10V Vi= oV Vo= (o V
Rr= |z Ri=20 () R>=30 (2
Itz 0.%3 I,z 0.5 A Iz 0. 33A
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4. Find the following. ' " vV

—"\/\/—
V=18V "p _/\/\/\_

Ir=4A L=3A

N\
Vo= _3V Va=? I.=_( A

5. Find the following.

Ir=i15A ~— __
L=6A Vy=120V
V= { 2oV R;= 2o 2.
Viz 2oV Rp=_132352
Iz = q A

6. Find the following.

VT=120V
V=45V
R, =300
Viz 5V Iz= /' §A
V= é oV RFM
II = /t g‘ /:} RT = 50 -SL-—
IZ = /n 5 7
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7. Find the following. /\/\/\

Is=4 A
I;= ﬂ Vs=_ LRV
Vz = ZD \/ l . I4 = 3 IF}'
V4 = 2 % L/ I7 - ?- 4
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